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1. # & —18 nxn 7 M (square matrix) A » B A F 7| B4 -
(a) (10%) #&4%% 44 PR (eigevalue problem » Ax=Ax)7T A T Fl @& ik !

(I) # det(A - ML) = 0;
(I1) # det(I - AA™)=0
HF ‘det(X) &HmELER X 2475 K (determinant), I &K % nxn 2 Efx % # (identity
matrix) o R &4 k(D)@ A AMERTER > BRAR FE(IDT KT A 9B ERBHRS
T RIER A K AT RAH7

(b) (5%) % F M A % i (invertible) » IR 0 25 T 5 A 894542

(c) (5%) % H M A %7 i# (invertible) » B £ # (rank) 48 % & A7 78 45 442
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@ (o) a7 L xa A 2nnnAssaE
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(e) (10%) # A= [2 > _2] v RAgH RN A 2 ¥ A4 (diagonal matrix)D A D7 o

2. Laplace @i K@M TR AGERTE -
(@) (5%) 4 F(s)=L[f(x.1)| & & ¥ flx, )8y Laplace ## » & H Laplace #ikay & 0K -
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(b) (5%) M A(HELR > BHL

1k, a<t<a-+k

(c) 5%) % f(t—a)= {0 othermise K fi(t-a)#y Laplace # 44 -

(d) (5%) 4 6(t—a)= }(iir&jj((t—a) » K Xt-a)#y Laplace #44 -

(©) (10%) % & % Clxt)ib RAGRA F A - ‘2—? _ —k%f— R B 00 B C(x,0)=0 C(0.0)=cy °

AR (Dey & R R B TR -

3. 2EFHEEREN T(xy2)=3e"y+2cosysinz+5x'z :
(@) (5%) KtiZ 5 & 26(0,72,0) 89 #% & (Gradient) o
(b) (5%) Kibi®mEZ N #F itjtk & £85(0,72,0) 89 F & F#(Directional derivative)
(c) (5%) £ a20,72,0) hBEHFILERRAZFTG -
(d) (5%) sk sbis A4 42 25(0,7/2,0) 89 %% & (Divergence) °
(&) (5%) Kb sbid B4 45 25(0,7/2,0) 89 5% B (Curl)
() (5%) 3R T(x,y.2) %5 % — 8% 4t & E(Potential function)



